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QUESTION 1

An automation engineer is trying to configure a destination group to use dial-out telemetry with gRPC on a Cisco IOS
XR platform. The template created is failing to apply. Which parameters must be configured? 

A. source IP address, source port, encoding, and sampling interval 

B. source IP address, source port, encoding, and protocol 

C. destination IP address, destination port, encoding, and sensor path 

D. destination IP address, destination port, encoding, and protocol 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/td/docs/iosxr/asr9000/telemetry/b-telemetry-cg-asr9000-61x/b-telemetry-cg-
asr9000-61x_chapter_010.html 

 

QUESTION 2
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Refer to the exhibit. Which two configuration leaves in this YANG model are optional? (Choose two.) 

A. last-change 

B. oper-status 

C. type 

D. enabled 

E. mtu 

Correct Answer: AE 

 

QUESTION 3

An engineer is deploying a Python script to manage network devices through SSH. Which library based on Paramiko is
used? 

A. sshmiko 

B. paramiko.agent 

C. libssh2 

D. netmiko 

Correct Answer: D 

Reference: https://pynet.twb-tech.com/blog/automation/netmiko.html 

 

QUESTION 4

Refer to the exhibit. What are the two outcomes when the RESTCONF POST code is implemented? (Choose two.) 

A. A new VPN endpoint to a VPN is added. 

B. An L3VPN endpoint to a VPN is replaced. 

C. An L3VPN endpoint to a VPN is merged. 

D. A new L3VPN endpoint to a VPN is added. 

E. An L3VPN endpoint to a VPN is updated. 

Correct Answer: DE 
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QUESTION 5

Which two data formats are human readable? (Choose two.) 

A. YAML 

B. Apache Arrow 

C. gRPC 

D. binary 

E. JSON 

Correct Answer: AE 
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